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Multiplying a Decimal by a Decimal

Solve the following problems.

2.2 2.67x =

2.98 15.1x =

1.2 0.99x =

0.3 1.34x =

1.25 0.5x =

1.76 2.3x =

0.88 1.3x =

1.33 3.5x =

3.21 5.4x =

2.8 0.35x =

1.5 1.26x =

1.39 0.9x =

2.05 2.3x =

0.16 3.6x =

1.1 5.33x =

1.6 0.95x =

2.8 1.22x =

2.09 1.4x =

1.73 2.2x =

2.15 1.8x =
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Answers

Solve the following problems.

5.8742.2 2.67x =

44.9982.98 15.1x =

1.1881.2 0.99x =

0.4020.3 1.34x =

0.6251.25 0.5x =

4.0481.76 2.3x =

1.1440.88 1.3x =

4.6551.33 3.5x =

17.3343.21 5.4x =

0.982.8 0.35x =

1.891.5 1.26x =

1.2511.39 0.9x =

4.7152.05 2.3x =

0.5760.16 3.6x =

5.8631.1 5.33x =

1.521.6 0.95x =

3.4162.8 1.22x =

2.9262.09 1.4x =

3.8061.73 2.2x =

3.872.15 1.8x =


